Java By Abstraction ANSWERS TO TEST-B
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Question B.1) Something like this:

Depart ment dept = new Departnent ("R&D', 2000000);

Enpl oyee el = new Enpl oyee("John", 3);

Enpl oyee e2 = new Enpl oyee(" Debbi e", 2);

dept . assign(el);

dept . assi gn(e2);

i nt count = dept. get HeadCount ();

if (count > 10)

{ int delta = (int) (0.05 * dept.getBudget()); // or 100000
dept . changeBudget (del t a) ;

} el se

{ int delta = (int) (0.02 * dept.getBudget()); // or 40000
dept . changeBudget (-del ta) ;

}

Question B.2) Input and validation can be done like this:

IQprint("Enter a string: ");
String entry = 1O readLi ne();
SE.require(entry.length() < WDTH, "String too long!");

or like this:
if (entry.length() >= WDTH)
{ IQprintln("String too long!");
} else

{
}
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Output generation can be done like this:

[QfillChar ="+";
IQprintln(entry, "C'+WDTH);

or like this:

final String PLUS = I QO repeat ( WDTH, '+');
int left = (WDTH - entry.length()) / 2;
int right = WDTH - entry.length() - left;
| Q print(PLUS. substring(0, left));
IQprint(entry);

| Q println(PLUS. substring(0, right));

or via loops.

Question B.3) Input and validation can be done like this:

final int MAX = 6;

final int INTIAL_BALANCE = 10;
final int WN = 2;

Random rng = new Random();

i nt balance = | NI TI AL_BALANCE;
IQprintIn("Enter a guess...");
int guess = IQreadlnt();

for (; balance > 0 &% guess >= 1 && guess <= MAX;)
{ int rand = 1 + rng. nextlnt(MAX);

i f (guess == rand)
{ balance = balance + WN,
} else
{ balance = balance - WN
}
int guess = IQreadint();
}
[Qprintln("Final balance =" + bal ance);

The readl nt statement could optionally be absorbed in the first and last parts of
the for; viz.

for (int guess = IO readint();
bal ance > 0 &% guess >= 1 && guess <= MAX;
guess = I Qreadint())

{ int rand = 1 + rng. nextlnt(MAX);

i f (guess == rand)

{ balance = balance + WN,
} else

{ balance = balance - WN
}
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